37

OE/NE - BE

BRSEL, RERERENMSE

O P HERRRESKL

© PR 1% 3k

s
|

Bz, EEEMD W

—

D oEs
- oo
iEAR MR x 712
O |z EERE 04.5x3 08 x 4
W | Wzh(RBRe6, ¢8, ¢10) $4.5x 6 $8x 8
06 x4 610x5
96 x 8 $10x 10
"
HENE mm 645 | o6 | 48 | 410
ZMEAX Wzh / BghEEER
fERRE TABERES
{RIETE A1 MPa 0.9
=aERAES MPa 0.6
=IRERESD MPa 0.2
INERRIERE © -10 ~ 60( BEAREFRE)
2 BERE
TREAVFRE mm 0~+1.0
E R E mm/s 50 ~ 750
R T
H R NE N ——
(mm) IREITIE
45 3. 6
6 4, 8
8 4, 8
10 5. 10

403




MKY/TKY

M

BEEEER

Mzh
i B MPRERE L
FTEZH

No. FHEWR R No. FHEWR TR
1 A HEE 7 %2 Rk -

2 THE TR FRAEL iR
3 EEFE =i 8 O BE H-NBR
4 e EEW 9 O B H-NBR
5 O B[ H-NBR

— [oF:1]:2) H-NBR 1 EIRIAR o6 L, HYREMK

! YEE] H-NBR 2 MKY RIS HIAE TKY AR L&

405




MKY/TKY

SR TE (mm)

PR i3 43 =K / B8 By 38 86 P o]
MKY-0

| E—— 2-0J
1THOLOr
h 3 777T777
O
]
(@] o 54—
o | —
\M
1| s R
G
P
F
Eli= A B|[C| D E F| G H J K LIM[N|P|R|S|T|U|V BORT
MKY-O-45x3 | 285 |55| 6 |25 145 |11|6.5 M2x 0.4 & 3.5 27126 3 |7 |8 |18(10(5 |3 |4 |5 M3
MKY-O-45x6 | 285 |55| 6 25| 145 |11|6.5 M2x 0.4 & 3.5 27126 3 |7 |8 |24|(16(5 |3 |4 |5 M3
MKY—0-6 x 4 31 |65|7 | 3 | 145 |13|75| M25x045%4 |32|34|38|8 |9 |22[14|5|3 |46 M3
MKY-O—6 x 8 31 |65|7 | 3 | 145 |13|75| M25x045%4 |32|34|38|8|9|31|23|5|3|4]6 M3
MKY-O-8 x 4 36 8 9| 3 16 |16| 10 M3 x 0.5 & 5 32|45|55|12|14|23 (146 |3 | 6 | 7 M5
MKY-O-8 x 8 36 | 89| 3| 16 |16 10 M3x05%5 |32|45|55|12|14|31]|22|6 |3 |6 |7 M5
MKY-O-10x5 | 37 | 9 |9 | 3 | 16 |18 12 M3x05%5 |32| 5 | 6 |14|16|28|18|7 |3 |6 |8 M5
MKY-0O-10 x 10 37 9 9| 3 16 | 18| 12 M3 x 0.5 iR 5 32| 5 6 |14(16(39|29|7 |3 |6 | 8 M5
Bz sk / W Bh
MKY-W
WV
oU
| i
N L) L]
(1 [ (T [
w i i
= 2-0J e —
| Hotor I—
N S T .
%) /az\ =T ‘ ‘
o1 ER P =l R—
o | w—
M
G Tls R
P
S A|B|C|D|E|F| G H J K LIM|N|P|R|S|T|U|V|W #OR
MKY-W-6 x 4 31657 |3 |145|13|75 M2.5x0.45 R 4 32(34|38| 8 |9 |283(17(3 |3 |4 ]| 5 9 M3
MKY-W-6 x 8 31657 |3 |145|13|75 M2.5x0.45 R 4 32|34|38| 8 |9 (27213 |3 |4 | 6 |12 M3
MKY-W-8 x 4 36| 8 |9)|3]|16|16]| 10 M3 x 0.5 & 5 3245|5512 |14 |28(21| 4 |3 |6 | 6 | 12 M5
MKY-W-8 x 8 36| 8 |9)|3]|16|16]| 10 M3 x 0.5 & 5 32|45|55|12 |14|30(23|4 |3 |6 |65 12 M5
MKY-W—10x5 |37| 9 | 9|3 |16 |18| 12| M3x05&%5 |32| 5 | 6 |14 |16|29|22|4 |3 |6 |65] 12 M5
MKY-W-10x10 |[37| 9 [ 9 | 3 | 16 |18 12 M3 x 0.5 X 5 32| 5 6 | 14 |16|33(26(4 |3 |6 | 9 | 12 M5

406





